restart

2 1
E 1 = " - =~
cuacion ‘= y"+ L7 +y .

+y(x)

)
2 2 dx yix
Ecuacion =~ y(x) + . +ylx) =
EcuacionHomogenea = lhs(Ecuacion) =0; Q(x) := rhs(Ecuacion)
d
2 2 ylx)
. dx
EcuacionHomogenea :== ~ y(x)
dx X
(x) =+
Qlx) ="
SolucionHomogenea := y(x) = L ;n( ) + —Qciﬁiﬁ

SolucionHomogenea := y(x) = . .

comprobacionl = simplify{ eval(subs(y(x) =rhs(SolucionHomogenea)

EcuacionHomogenea)))
comprobacionl =0=0

C1 sin(x) n C2 coslx)

Solucion, = 'Sm;iL;SolucionQ = ‘C'QSXLXL;
Solucion, := 'Sm)fﬁ
Solucion, := E‘Qi(ﬁ
SolucionNoHomogenea := y(x) = A(x) -Solucion, + B(x) -Solucion,;
SolucionNoHomogenea = y(x) = ( )x ! + < . L)
with(linalg) -
AA = wronskian ([ Solucion,, Solucion, |, x);
sin(x) cos(x)
x x
AA = . .
coslx)  sin(x)  sin(x)  cos(y)
x s x o
BB := array([0, 0(x) 1);
BB:=|0 €
x
SOL = linsolve(44, BB);
SOL — cos(x) ) sin (x)
" cos(x)®+sin(x)® coslx)? +sin(x)?

Aprima = simpliﬁ/( SOLI);Bprima = simpliﬁ/( SOLZ);
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Aprima = cos(x)
Bprima = -sin(x) 10)

> Alx) = int(Aprima,x) +CI; B(x) = int(Bprima,x) + C2;
A(x) =sinlx) + CI

| B(x) :==cos(x) + C2 an
> SolucionFinal = simplify(SolucionNoHomogenea); ) )
. . i
SolucionFinal := y(x) = . (12)

> Comprobacion2 = dsolve( Ecuacion)

X X

Comprobacion2 = y(x) = 13)

sin(o) €2, cosl) L, 1
X




